

سند در دسترس نیست

در دسترس نیست

در دسترس نیست

$$g(x) = \sqrt{-x^2 + 4x - 4} \Rightarrow -x^2 + 4x - 4 \geq 0 \Rightarrow -(x-2)^2 \geq 0 \Rightarrow x-2 = 0 \Rightarrow x = 2$$

①

$$f(x) = 2 \Rightarrow \sqrt{10} x^{\frac{1}{2}} = 2 \Rightarrow 10 x^{\frac{1}{2}} = 4 \Rightarrow x^{\frac{1}{2}} = \frac{2}{5} \Rightarrow x = \frac{4}{25}$$

②

$$g \circ f = (2x - 2)^2 - 2(2x - 2) + 8 = 4x^2 - 4x + 4 - 4x + 4 + 8 = 4x^2 - 8x + 16$$

$$f \circ g = 2(x^2 - 2x + 8) - 2 = 2x^2 - 4x + 16 - 2 = 2x^2 - 4x + 14$$

$$\Rightarrow 2x^2 - 4x + 14 = 2x^2 - 4x + 14 \Rightarrow 2x^2 - 4x + 14 = 0$$

$$S = \alpha + \beta = -\frac{b}{a} = 1, P = \alpha\beta = \frac{c}{a} = \frac{14}{2} = 7$$

$$\alpha + \beta = 1, \alpha\beta = 7 \Rightarrow \alpha = 1, \beta = 7$$

③

$$g(f(x)) = 2x^2 + 11 \Rightarrow g(2x) = 2x^2 + 11 \Rightarrow 2(2x)^2 + 11 = 2x^2 + 11$$

$$g(x) = 2x^2 + 11 \Rightarrow 2x^2 + 11 = 2x^2 + 11$$

④

$$f(g(x)) = 2x^2 - 4x - 1 \Rightarrow f(2x) = 2x^2 - 4x - 1 \Rightarrow 2(2x)^2 - 4(2x) - 1 = 2x^2 - 4x - 1$$

$$g(f(x)) = (2x - 2)^2 - 2(2x - 2) + 8 = 4x^2 - 4x + 4 - 4x + 4 + 8 = 4x^2 - 8x + 16$$

⑤

$$f - g = ax + b \Rightarrow \frac{a}{-1} = -1, b = 2 \Rightarrow a = 1, b = 2$$

$$\Rightarrow f - g = x + 2 \Rightarrow x + 2 = x + 2$$

⑥

$$g(x) = 10g^2 \Rightarrow f(g(x)) = 9g^2 = 10g^2 \Rightarrow g(x) = 10g^2$$

$$g(f(x)) = 10g^2 \Rightarrow 10g^2 = 10g^2$$

⑦

$$f\left(\frac{x-1}{x}\right) = x^2 + x - 2 - \frac{1}{x} + \frac{2}{x^2} = x^2 - \frac{1}{x} + x + \frac{2}{x^2} - 2 = \frac{x^2 - 1}{x} + \frac{2 - 2x^2 + x}{x^2}$$

⑧

$$g(x) = 10x - x^2, f(x) = 10g^2 \Rightarrow f(g(x)) = 10(10x - x^2)^2$$

$$f(x) = (-\infty, 1] \Rightarrow 10g^2 = 10(10x - x^2)^2$$

⑨

$$f_c f(a) = 1 - \int_0^1 f(x) g(x) dx, \quad 1 + \int_0^1 f(x) h(x) dx$$

$$f(f(a)) = f(1) = 1 - \frac{1}{a} > f(a) = 1 - \frac{1}{a^2}, \quad f(a) = 1 - \frac{1}{a^2} > f(f(a)) = 1 - \frac{1}{a^4} > \dots$$

$$\Rightarrow x - \cancel{x} + \cancel{x} - 1 + \cancel{x} - 1 + \cancel{x} - 1 + \cancel{x} - 1 + \cancel{x} - 1 = 0$$

بنا به درخواست است و در این باره

$$f(x) = x - \frac{\alpha}{\Gamma}, g(f(x)) = x + \Gamma, g(x) = x - \frac{\alpha}{\Gamma}, g(g(x)) = x + \Gamma$$

$$1 - \frac{1}{x} \geq 0 \Rightarrow (1-x)(1+x) \leq 0$$

①